@ Determine the area of the region given below bounded by y = x3, y—x=6, and 2y =-—x.
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@ Use the diagrams below to answer the following questions:
a) Suppose the bounded region in the graph to the right is rotated about 4‘
the y-axis. Which integration method will require only one integral? C: E
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Draw in an appropriate rectangular slice in the
diagram for the method you chose.
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b) Suppose the bounded region in the graph to the right is rotated about
the x-axis. Which integration method will require only one integral?
(Circle one) 6\& A
\
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Draw in an appropriate rectangular slice in the / N ' | —
diagram for the method you chose. + U
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@ Let R be the region bounded by the curves 4y = x*andx=2y-4.
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W‘l’ @ Washer method. Determine the volume obtained by rotating R
about the x-axis.
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@ Let R be the region bounded by the curves ) =—X and x = y —4y.

a) Setup, but do NOT evaluate, the integral needed to determine the volume obtained by rotating
R about the Y -axis using the disc/washer method.
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R about the line y= 5 using the shell method.
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@ Use the general (cross-sectional) slicing method to find the volume of the following solid.
a) The solid whose base is the region bounded by the curves y = x> and y =2 - x°, and whose cross-

sections through the solid perpendicular to the x-axis are semi-circles.
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b) The base of a solid is the semi-circular region bounded by the curves x =4/4 - y2 and x = 0.

Each cross-section perpendicular to the y-axis is a right-isosceles triangle with the right angle
leg lying parallel to the x-axis (perpendicular to the y-axis). Set up the integral to find the
volume of this solid. V.4
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